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What you'll need: Two coima, paper, and pencil 1o leep score Disesns special offfrs and calewlating discownts e.g. 20% reduction, SO% | Look a1 the Learming Limes 1ables
1ale price. Hermoneters willin your bovae, (beater [pidge/ pegyen) Al Fimes 1ables fpom 1 1o 12 x Fimer 1ables
What 1o do: Flip ot coim. Every Time it comer up beads, your ild gty Waite tem down coldest ~Lottest Clikdrem and parests can wale tuaml eards. Each small buriners 1iged
1 poind. Every Time it comen wp 1ails, you gt 1 poind. Flg 2SO times, Chikdnen 1o work out 10%, 20%, 25%, S0% and 1S% off difljerent objects | What ia #he diffjerence betwesn Hhem? cand will bawe & milliplication sum om 1. For eeample Sx9=40. Purests
Talley by S's 10 malie 11 asion To biep Trach of scorcs. found in supermarket can cover over ome of he sumdberns. Clibdnen mut work out what the
The person with e mort points wirs. I one person bas 10 points more Can you utimate the average tomperatine o e Artanctica? L o i)
Yoan We otler perion dots, scort an s 10 points. Does hin bappen WMW&WWWW&WWWM? $ .
vory offten) Wiy not? Cleck younr estimater wsing e ntormed. How close were your
elimitions)

Flip e coim. MWMM%WaMIAMWoM,WM
1cores ] poiad. I 1 comes wp beads and 1ils, you 411 point. After SO

O,

(i, 12 whe bar more points. ? @Q W

Do you tink the game ia (4in? Wha 3f one person rectined 2 poiats for 1 2 ~
wtng doulle s and the otlen porion sectived 1 poind fon ctrgtling (o) % 7
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@ & Equivalent [packions Measurenant Number bonds
\f(’\f ,,{,k Using sanduicles o show (actions 1/2, Yo and e 2 quastins s Oleuliting ances e, Diffrcnt itgs T e 10 g the mbens 010
equivalent 1o Lal How many 1iles in the shower) Different ways o make 20 wiing #he sumbers 0-20
& wring 4 rownd sandwich cabes to show pactions 1/2, 1/41/6,1/8 de. | Edtimate amousd of carpel, curlaim matenial, paind de. needed for 4 Differest ways 1o make 100 wsing the mumbers 0100
ard [ianding equivalent (pactions noom in e bowse. Work out codt. Different ways 1o mate 1000 wring #he mumbers 0-1000
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